Ohm’s Law Exercises

Remember: Voltage = Current x Resistance. 
1. What is the voltage across a 3  resistor when 2 A of current is flowing through it?

2. What is the voltage across a 1.5  resistor when 180 mA of current is flowing through it?

3. What voltage is lost through a 13 k resistor with 230 mA of current passing through it?

4. Hamish measures a voltage of 4.5 V across a bulb. If the resistance of the bulb is 2.3 , what current is passing through it?

5. What is the resistance of a heating element if there is a voltage drop of 12 V across it when a 10 A current is passing through it?

	Current (mA)
	Voltage (V)

	100
	3.1

	150
	4.4

	200
	5.7

	250
	7.8

	300
	8.9

	350
	10.7


6. Emma wants to determine the resistance of a heating element. She uses a variable resistor to change the current through element and measures the voltage across it at each value of the current. Her results are shown in the table.
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	


a) Plot a graph of her results. 

b) Calculate the slope of the graph.

c) What value is given by the slope of the graph?

d) What type of relationship is there between Voltage and Current?

Combining Resistors
Calculate the resistance of the following combinations of resistors.
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